2004

DNA
( ( )DNA ( 11 13 ))
( DNA ( 14 15 ))
DNA
1999 2003 11 15
1
4 (rhgl rhg2 rhg3 rhg4)
DNA
1
1) 1 TC9703 758  ( )x To-8E(P184751
1 ) 1
2) QTL RILsS( )
1 4
3) 4 92
3 X 1
4) rhgl rhg4 3
X 1 F,
5)DNA
1) 1 4 1 3
2) QTL RILs 1 4
rhgl ( G) Satt309 rhg2 (Bl)
Satt359 rhg3 (D2) Sat_ 022 rhgd (A2) Satt632 ( 1) rhg2  rhg3
3) 92 1 4
rhgl rhg4 rhg2
rhg3
4) rhgl 1 3
5) 1 4 rhg4 3 3
rhgl 3
3 X 1 rhgl
rhg4 2
6) 871 1 / 233 // 233 3
1 BC,F,19
14 ( 2) rhg4 Satt632
rhgl Satt309 Sattl63
Sat_141 ( 2)
7) 3



1 TC9703 (QTLs F, RILS F,.q ( )
TC9703 F, TC9703 RILs F,. ( 758  /To-8E)
(c) ) O |84 91 131206 238 51 121 158 67 79 [178 192 98 72
1 R R R R R R R R R R|S S § S
3 R R R R R R R R R RIJR R R R
G Satt309 9.3 -15.0 34 8.2 |[B B B B B B B B B B |[B B B B rhat
Sat 141 - -14.9 31 7.4(B B B B B B B A A BB B B B
A2S5att632 3.4 - 6.8 9 1.9 (B B B B B B B B B B|A A A A rha4
Sat 162 - -6.2 8 1.6 |]C C €C €C €C C C Cc C -1A A A A
BLSat 123 2.3 -10.4 15 3.1 [C C €C € C €C € C C AfC C C C rha2
Satt359 - - 9.9 13 2.8 /B B B B B B B B B A|B B B B
D2Sat 022 13.3 - - - B B B A A B B B A B|B B B B rha3
Sct 220 - - - - B B B B B B B B A A|]B B B A
) A: 758 (S) B :To-8¢ (R1) C :B ( )
rhg2  rhg3 2 BC,F, BC,F, 1
233 (R3 x 871 (R1 rhg4 rhgl
Satt Sat_| Satt Satt Sat_
2000 F, x 233 632 162 | 163 309 141
BC.F.-6-5 H C H H H | -
BC,F-1 2 BC,F.,-6-5- 5 B C B B B S
1 6|8 Cc|B B B[R
2001 pm==S-m==n 52| B C B B B | R
1 65| B c B B B | R
BC, +6 RL x 233 94 |NER N R
98 | B C B B B | R
2002 32| B c B B H |R
BGR-6 X 233 BC.F.-6-6 H c | A H A |-
____________ BC.F.-6-6- 4 | R C B B A | R
Vo CF -6 43 | B c B B A | R
2003 18GF-6-1 14 3 <<:::::::::] 51| B C H B A | R
/ T~ s6| 8 C | B B A [R
ymmm T e e L
ey T : 60 | B c B B A | R
180 651 2 1 ich 6ol 15 L o EERAEEEE - |-
l l 1238 ¢ |B B A |R
BC;F;-6-5-16 (R1 BCFs-6-6- 4 (R1 33| B c B B A S
52 -43 | 55/ 8 C | B B A |S
-53 -51 127 | B ¢ B B A |S
: - 132 [ B C B B A |S
n )A: 233  (R3) B : 871 (R1)
C :A Sat_163 1
1) rhgl rhg4
3 ( )% 1 ( )
2) P184751 1
3)
1) F, 2,000
DNA
2) 1 x rhg2 rhg3

rhgl

rhg4



